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GEP 421: WATER RESOURCES PLANNING (December, 2017)

SECTION A: COMPULSORY QUESTION
&
QUESTION1
(a) ‘One of the basic concepts of engineering economy analysis is that money has a time
value’. Explain the validity of this statement. (5 marks)
(b) ‘Planning in the sector of water resources is endless’. Discuss (10 marks)

(c) A rural community would like to purchase either a diesel engine or a gasoline engine to
drive a water pump. Using the information in Table 1 below and a minimum attractive
rate of return of 10%, determine which engine is more attractive using the Uniform
Annual Cash Flow method of analysis. (25
Marks) '

(40 Marks)

Table 1 Information for the diesel and gasoline engine

ITEMS DIESEL GASOLINE
First cost E8000 E5000
Estimated life 5years 3 years
Annual fuel costs E1800 E2400
Annual maintenance E400 E800
Salvage value E1200 E400

SECTION B: ANSWER ANY TWO QUESTIONS

QUESTION2
(a) Describe the data needed in the planning of a water resources scheme. (15 marks)
(b) Distinguish between multi-sectorial and sectorial planning in the sector of water
resources. ‘ (15 marks)

(30 Marks)
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QUESTION 3

Discuss the usefulness of the International Water Law in water management between riparian

countries. @ (30 Marks)
QUESTION 4
‘Swaziland has plenty of water and yet it suffers from water scarcity related problems’. Discuss
this statement. (30 Marks)
QUESTION 5

a) Using examples discuss suitable drought mitigation measures for Swaziland.

(15 marks)
b) Discuss correlative rights in water law. , (15 marks)

(30 Marks)



